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Simplify and write the answer so all exponents are positive:
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3. (4pts) Convert to scientific notation or a decimal number:
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Simplify and write in standard form: :_EE’_
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Use formulas to expand:
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Factor the following. Use either a known formula or a factoring method.
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12. (6pts) The total gross domestic product for Kentucky in 2014 was estimated to be
188,602 million dollars. Kentucky's population for 2014 was estimated at 4,413,500. Cal-
culate the total gross domestic product per person for Kentucky (dollars per person), and
write it in scientific notation, rounded to six decimal points.
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